
 

 

ΠΑΝΕΛΛΗΝΙΕΣ 2018 ΕΠΑΛ 

ΣΤΟΙΧΕΙΑ ΜΗΧΑΝΩΝ 

ΕΝΔΕΙΚΤΙΚΕΣ ΑΠΑΝΤΗΣΕΙΣ 

ΘΕΜΑ Α 

Α1.  1 – ε   

 2 – γ  

 3 – α  

 4 – στ  

 5 – δ  

Α2.  α – Σωστό  

 β – Λάθος 

 γ – Λάθος  

 δ – Σωστό 

 ε – Σωστό  

 

ΘΕΜΑ Β 

Β1.  α – χυτοσίδηροι, χάλυβες 

 β – κεραμικά, ρητίνες, πλαστικά 

Β2. Σελίδα 136, παράγραφος 7.2.2 τα 1,2,3 και 4 

 

ΘΕΜΑ Γ  

Γ1.  
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συνεργαζόμενα περικόχλια 

Γ2.  b1 = 1,1· b + 10mm b = 10cm 
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ΘΕΜΑ Δ 

Δ1.  α. 2/1000 cmdaNίV 
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 γ. d1 = d + 1mm = 21mm = 2,1cm 

 

Δ2.  α. P2 = P1 · 0,9 = 30 · 0,9 = 27PS 
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